AIEEE-2012 PAPER-2 Series E

Part I / 1T |
Mathematics / TfoTa

Statement 1 : Point of intersection of the
tangents drawn to the parabola x* =4y at
(4, 4) and (=4, 4) lies on the y-axis.
Statement 2 : Tangents drawn at the
extremities of the latus rectum of the
parabola 12=4ay intersect on the axis of
the parabola.

(1)

Statement 1 is true, Statement 2 is
true, Statement 2 15 a correct
explanation for Statement 1.

Statement 1 is true, Statement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

(2)

Statement 1 is true, Statement 2 is

false.

{4)/ Statement 1 is false, Statement 2 is
true,

(3)

The value of

tan¥’ = tan27° - tanb3" + tan81° is :
(1 4

2y 3

@ 2

@ o

If f(x)=|x|+ [x=1], where [ - ] is greatest
integer function, then f{x) is :

(1) continuous at x=0 as well as at
x=1,

(2) continuous at x=0 but not at x=1.

(3) continuous at x=1 but not at x=0.

["g neither continuous at x=0 nor at

Xx=7],

1.

L

HIT 1 : WA ¢ =4y F a4, 4) 7
(—4, 4) wr wieht m wovl e w1 whr
faig y-aw W fegm §)

FUT2: WA ' =4ay F FWEE
stafagsi v wfet w8 el T sk we
wir=2z Fwt ¥

T 1IARE w2 ™ b Wy
FUA 1 F1 W = ¥

(1)

TEITE L T 2T™mE w0
FYT 1 F TE =rEn 95 8

(2)

(3) %949 159 ¥ F949 2 594 ¥

(4) T 1 FEAE FE 279 E

tan9® - tan27° - tan63" + tanB1°
RG] ‘!-' :

(1 4
2) 3
(3) 2
(4) 0
A2 f(x) = x|+ [x—1] 8, & [. | HETH qUiE
Fer gena 8, & f(x) :

(1} x=03x=12F | dma ¥

x=0T TA9 § W x=1 W T £
x=1T Fm & Wgx=0T 7 ¥
TAr=0 T HAET A AR =17

(2)
(3)
(4)
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4. A class consists of 80 students, 25 of them | 4. % Fan H 80 farmnedi ¥ forrdf 4 25 wrand #)
are girls. If 10 of the students are rich and afe 10 farendd et & qan 20 farnef e &
20 of the students are fair complexioned, £, M wan | v Aol F el g w7 =
then the probability of selecting a fair %t wfawm (9% 99 g fF o g
complexioned rich girl from the class = E) #
(assuming three traits as independent) is :
1 i 1 .2
™ 10 M 0
2 3 2 1
@) 3 @ 3
o S gy 25
512 ) 512
4 e 4 i
T @ 5
5. The number of 4 - digit numbers with | 5. fafvm o= =t 4 - 3= *1 dens, =1 9
distinct digits is : %
(1) 504 (1) 504
fl/ 4536 (2) 4536
(3) 4634 (3) 4634
(4) 5040 (4) 5040
6.  Each side of a square is increasing at the | 6.  TF &7 ®1 We% a1 9./4. 1 % 79F
uniform rate of 1 m/sec, If after some time Hﬂﬂfﬂtlﬂﬁﬁ?ﬂﬂ#ﬂmﬂﬂﬂ
the area of the square is increasing at the mﬂﬂﬁﬂ.fﬂ.iﬁﬂﬂﬂmt.ﬁﬁ'ﬂ
ramﬂfﬂmzfsec,thmﬂwamanfsquare g ah w A, a Atz F
at that time in sq. meters is :
(1 4 (1) 4
(2 9 (2) 9
y‘(} 16 (3) 16
4) 25 (4) 25
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If a chord of a circle xz+y2=4 with one
extremity at (1, ,/3) subtends a right

angle at the centre of this circle, then the
coordinates of the other extremity of this
chord can be :

¥ (-1, 43)
@ (1, -3)
3 (-3, 1)
# (V3 1)

Amongst the following functions, a
function that is differentiable at x=01s:

(1) cos(|x|)— |«
(2)  cos{lx]) + |«
(3)  sin{|x[) + x|

(4)  sin(lx]) x|

The tangent to ellipse 3).'2+1f:y2= 12, at

3
the point (1, E] intersects the curve

=

yV4x=0at:

(1) no point

(% exactly one point
(3) two distinct points

(4) more than two points

“ﬁ_‘ﬁ.r2+y2=4$"rﬁ E‘ﬂlﬂ'r o=
Hﬁqﬁg“,\ﬁ}tﬁﬂﬁ?ﬂ'ﬁm:ﬂl
wat@ w0 €, T W W F gE s

FfemEanass ¥
(1) (-1, ¥3)

2) (1, -3)

3) (=43, -1)

4) (V3, -1)

fFefafea woi 4§ @ =8 680 o 1 =(
HaFeAE g :

(1} cos(jx])—|x]
(2)  cos(|x])+|x]
(3)  sin{|x])+|x|

(4)  sin(|x]) =[x

<rgE 327 + 16y =12 % fag
(i,ﬂmﬁﬂémmwﬁ-;
wI Fdl €

(1) Taret ot fag w7

(2) FFa oF fHag W

(3) 1 fafim fagat =

(4) T # sfaw fagai =

SPACE FOR ROUGH WORK /7% %14 & feu =g



10,

11.

Statement 1 : Consider the statements
p: Delhi is in India
q : Mumbai 1s not in [taly.

Then the negation of statement p v q, is
‘Delhi is not in India and Mumbai is in
Italy”.

Statement 2 : For any two statements p
and q

“Pvq=~pv-qg

(1) Statement 1 is true, Statement 2 is
true, Statement 2 is a correct
explanation for Statement 1.

(2) Statement 1 is true, Statement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

(3) Statement 1 is true, Statement 2 is
false.

(4) Statement 1 is false, Statement 2 is
true.

If _a‘ and i:l- are two vectors such that
2;4- i'l. =e_: and ;+IE-;;,where

e, =(1,1,1) and e; = (1,1, -1), then

the angle between the vectors a and b

is

m  cos(7)
@ s (7)
®) cos”(~74,)
@ cos”(=7)

10, 97 1; Frafafas w95 w faan Fifaw)

11.

p:FEetymm g ¥

q:ﬁﬁfﬁﬂqﬂth

M ®vH p v q F 1w wuw ¥ faesit v o
1 & aon Tt gz A

FHaT 2: f5d @ wEipamq F fom
~(pvq=-pv—q

1) FAI1TAEFTE 270 E 5972,
#4941 F1 5 =mrEm

(2) FH 1AL T 2TQ L ;599 2,
w9 1 %1 W = T #

(3) w9199 &, w9 2 5w

(4) F9 1703 ¢, T 259 T

oz 2 am b ATAVMEE 22 + b= e,
MM a +2b=ec, & e, =(1,1,1) 70

e; = (1,1, -1)E @ a aw b AT Em
t:

(1) cos™’ {%]
@ s (%)
@3 s (-74)

@ cos”(-74)
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12. Using the fact that 12. A =f{x) = glrh.c<x<d=
O=fix) =gllc<xr<d=

d d
d d If{x}dx = jg{x}dx, % 9O 9 ¥H T

Jf{.\'}dx = J-g{xjd.x. we can conclude
i C

3
it ﬁ'ﬁﬁﬁ?ﬁ'ﬂ'ﬁﬂiﬁ[s}'3+xl dx oz
that I'JE + x° dx lies in the interval : !
! s A fem e e

(1 1
o (33) o (3)
(2) (2, /30) 2 (2, J30)
3 3
(3) [5 5] (3) {5 5]
4 (4, 2/30) (4) (4, 2430)
gy dx dx
13. The integral f ¥ , evuals : 13. WA J--.._._._.h_i}.kmt:
(a2 — b2 %) (a2 —p222)?
X X
1 e e 1 I —
NS S F N
6 iy + @ ——+C
a2a? — b2yl az,q,faz — b2 2
AL
S = s A B Trenray
(#) — et + C () Y i
a2Ja? — byl azﬂ{az —b2 2
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14.

15.

Let f(x)=x"—8x +12, xe[2. 6].
Statement 1: /'{c)=0 for some ce(2, &)

Statement 2: { is continuous on |2, 8] and
differentiable on (2, &), with £{2) =f(8).

1)/ Statement 1 15 true, Statement 2 is
true, Statement 2 is a correct

explanation for Statement 1.

{2} Statement 1 is true, Statement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

(3 Statement 1 is true, Statement 2 is
false.

(4) Statement 1 is false, Statement 2 is

bride

leta,b,ceR,a>0 and functionf{: R =R
be defined by f(x)= ax* +bx +c.

Statement 1: b* < 4 ac = fix) = 0, for
l.'.".l"i'."l"'n" Wil I.'I.H." (:If A,
Statement 2 : f is strictly decreasing in the
| -k
interval | — =, .r,t.' (and strictly increasing
2a |
: _ -b Y
in the interval | 5= * |
A !

A=l

(1)  Statement 1 is true, Statement 2 is
true, Statement 2 is a correct
explanation for Statement 1.

(2} Statement 1 is true, Statement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

(3] Statement 1 is true, Statement 2 is
false,

(4) Statement 1 is false, Statement 2 is -

Pruae.

14,

15.

WA f(x) =27 = Bx+12, xe[2, 6] #1
FuA 1: 5 ce(2, 6) F AU (c)=0

WUA 2: f [2, 6] W HaA ¥ AW (2, 6) W
ATFAAT § A F(2) =F{6) T |

(1) Fe4 199 %, Fe4 299 § ;584 2,
FYA 1 H TE == E

(2) Fu9 1 TR E FUH 2R E w2,
FUF 1 F1 TE S TR R

(3) U7 199 %, w99 296G T

(4) T 1 A9A §, FE 299 )

M a, bceR a>0 8N FHE: R - R,
f(x) =ax® + bx + ¢ g1 wftvifa 2,

FAT1: b’ <4ac=i(x) >0, x F 79t 7

F oo

FAT2 fa:l'Ema(—m, ;_b}ﬁﬁimm
5|

%amaimm[z—:,m]ﬁﬁmaﬂqﬁtu

(1) FHEI1TAE FH 2T L FF1 2,
U 1 F T wmEn

(2) FU9 199 % F97 209 & w2,
FU 1 F1 w5 =men T

(3) U 19™ T w2 amE £

(4) FYF 1 WEE E, T 2 WA 2
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16.

17.

If the line joining points A(2, 0) and
B(3, 1) is rotated about A in anti-clock wise
direction through an angle of 15° then the
equation of line in new paosition is :

M SBx-y=23
(2) Bx+y=2J3
3 x+By=2

4 x-JIy=2

z =7
2

Let L be the line x—4=y-2= and

P be the plane 2x -4y +z=7.

Statement 1: The line L lies in the plane
P.

Statement 2 : The direction ratios of the
line L are [; =1, m; =1, n; =2 and that of
normal to the plane P are [,=2, m,= -4,
ny=1, and !, + m;m, + n;n, =0 holds.

{],} Statement 1 i1s true, Statement 2 is
truc, Statement 2 is a correct
explanation for Statement 1.

(2) Statement 1 is true, Stalement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

(3) Statement 1 is true, Statement 2 is
false.

(4) Statement 1 is false, Statement 2 is
true.

16.

17.

afs fagai A2, 0) T B(3, 1) T foee =0
A F e ammed fam | 15° gae a2
t w7 Tl A e R

1) VBx-y=23
(2) VBx+y=2J3

(3) x+By=2

(4) x-3y=2

z=7
A L I® k- 4=y- 2=~ % A= >
A 2x—dy+z=7 ¥

FUA1: T L EaE P H fem

FEA2: WLE g AL =1 m, =
n,=2 % a9 wuga@ P & AfwdA=a 3

fef A7 1,=2, my= -4, n,=1, ¥ AW

(1) FFITIE T 297 ¢ %97
FUA | T A B

(2) FHHITAE FFE2T9E w0
FUE 1 1 W =T T4 E

(3) T 19AE T 2a5mA E

(4) w991 994 ¢, F47F 2853 T
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18.

19.

20.

The total number of injective mappings
from a set with m elements to a set with n
elements, form > n, is :

m!
n! (m — n)!

(1)

3 n™
{4y~ zero

Ifafi=0,1,2, .., 16) be real constants such
that every real value of z,
(1 +I+II}B=.1U+ atr+azxz+ +aH,.1'm.
then ag is equal to :

for

(1) 502
(?]/_ 504
(3) 506
{4) 508
) 1 n! I'IJ
lim —|1+ + + . ¥
nl—m H[ I-'I-I + 'Ii I'II +22
n® i
n? + (n—1Y o Sl
T
M 3
T
@ 3
m
@ 3
-
@

18.

19*

20.

v wywd, fawd m sEma € |2 s s
Hﬁﬁﬂ.ﬁﬂﬁnmﬁ [m:n}ﬂ!ﬁ
wfaferawi #1 dWem §

m!
n!(m —n)!

(1)

m!

L
(3) n™
4) A

az afi=0,1, 2, .., 16) T awafas 3=
t fF % vds amafas am & fau

{1+ .t'+.t:_]3=aﬂ +a,x +azrz+ o P amzm

ta ag qUET ¥
(1) 502

(2)
(3)
(4)

204
506
208

Eml1+ n’ + n’ +..%
n®+18  nfa2d T

n=sx M n" +2
I.'I2 t

nz+{n—1]i-:|m :

M 3

@ 3

® 5

@ =
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21.

23.

24.

If the sum of first n terms of two A.P.’s are
in the ratio 3n+8 : 7n+ 15, then the ratio
of their 12 terms is

(1) 8:7

(2) 7:16

(3) 74:169

4) 13:47

Two circles in complex plane are
CyilE=i]=2
Cy: |£-1-2il=4. Then
(1) <, and C; touch each other.
(Z) €, and C, intersect at two distinct
points,
(3) C, lies within C,.
(4) O, lies within C;.

2

The differential equation 2Y. = Y1~ ¥
adx y

determines a family of circles with

(1) wvariable radius and fixed centre

(2)  variable radius and variable centre

(3) fixed radius and variable centre on
X-axis

(4) fixed radius and variable centre on
y-axis

The reflection point of the point (0, 3, —2)

inﬂielinel_x-l-y-zailis

(1 (1.2 -1)
(2) (21,4
3) @10
4) (0.0 1)

21.

22.

23.

24.

afe & awim #fed & wom 0 F 9 o
3n+8:7n+15F AqURA 2, A T=F 10 A
w2 H g &

(1) ®:7

(2) 7:16

(3) 74:169

(4) 13:47

C,:|Z-i|=27m

Cy i |2-1-2i|=4, ¥fag 5waa & @1 5= &

@

(1) €, a9 C, Wop wy w0 ¥

() C, 7w C, fafm figsii w vz
FAE

(3) C,C,% s fium 1

(4) C,C,% sy feum ¥

ﬁ;s R

ij”'
h o

ﬁﬁﬁrﬁuﬁamﬁ‘lthﬁw:

(1) Fem T aa §2 fifea &)

(2) PmemiqamEz Ao

() fAfrmEfFmanw izt = oo w
4

(4) fafeas foem e o 62 & S g3
i

fa=g (0.3, -2y %1 ™

o =2y = 24 1 e g -

() (L2 -1)
(2) (2,1, 4)
3y (21, 0)
(4) (0.0, 1)

E/Page 10
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25.

26.

27.

If the mean of a set of observations
Xys X3¢ wer Xpp iz 200 then the mean of
X +4 2348, x4 +12, ... xp+40 is

1) .34
(2)
(3) 38
(4)

42
40

b
Letﬁ=[: d].heaix?mtrixwhem

a, b, ¢, d take the values 0 or 1 only. The
number of such matrices which have
INVerses is :

(1 8
@ 7
(3) ®
#) 3

A Ll ]
If u, v and w are unit vectors

satisiying 2u +2¢ +3w=0, then

! ri

u = ¢ equals :

W 5
o &
®) —‘zﬁ
@ 3

25.

26.

27.

afz B v, x5, . Xy F FHHD F A

20k, W xytd, 2y 48, 23412, ., x;g+40
ol f

(1 24

(2) 42

(3) 38

4) 40

mﬂna=[3 :]Eﬂiixliﬂﬂiﬁﬁﬁ

a, b, ¢, d ¥ T Fad 0 2w 1 ¥ 9R e
# Aden e v § T

(1) 8
2 7
(3) 6
4 5

afz u, v AWM p TR WHE wew ¢ A

2u +20 +3w =0 ® ¥ F@ § @

o — of wm e
® %
@ B
& 7
@ 3

SPACE FOR ROUGH WORK /7% %14 % fg g



28.

29,

30.

The sum of n terms of the series

l+E+E+E+m55;

2 4 8 16

1
(1) En—n-—i
(2) 1-277

(3) n+2"" -1
1 .n
@4 @° -1

If m; and m; are the roots of the equation

¥ +(V3+2)x +V3-1=0, then the
area of the triangle formed by the lines
y=mx y=-myx and y=1is:

r;-.u":_:‘p+2]
V3 -1

"u‘"+2]

1
-

L

o 1
J”IEF»+I

1{=J3+2)
(3) A B-1,
5 1f=J3 +2)
(4) 2L V3+1 |

The wvalue of the determinant

VI3 +4J3 258 5
VI5+J26 5 10| is equal to:
3+.65 J15 5

(1} 5/3(J6 - 5)

2)  5J3(6 - J5)

(3} 5(J6 -5)

@ J3(J6 - J5)

29,

g

3 7 15 ™ .
t-t = = . FnwEIME .
4 B8 16 S

B | =

(1) z“-n-:,_]—

(2) 1=-27"
(3) n+27"

1
@ @™ -1)

AfE m, T4 m, FHE

x? +{ﬁ+2}r+q@—1-ﬂﬁ?qﬁﬁ, #
AT y=myx, y= —myx T y=1 % 73
fﬂﬂﬁmmt

1{J3+2)

S v gy

13 +2)

@ Ek53+1,

1{ =3 +2)
©®) 3B
\, a J

1 =3 +2)

@ 2 FE+1)
s

VIZ+3 255 5
JIs5+.J/26 5 J10| WO s
3+J65 Ji5 5

(M 53(J6 - 5)
() s5J3(V6 - J5)
(3)  5(J6-5)

4)  J3(J6 - J5)

E/Page12
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Part IT / W 11
Aptitude Test / 3ifursfa witeror

Directions : (For Q. 31 to 36).  The 3-D problem figure shows an object. Identify, its correct top
view, from amongst the answer figures.

Fder: (w31 ®36 Ffaw)  3.-D w97 3ph ¥ v awg # fearw T #1 yww w8 e g

IO SATHIaal 7 & vEATg
Problem Figure / S99 3TF(a Answer Figures | 0 3Ftaal
31. {
= — — —
(1) (2) (3) - A3)
32. - — o =
1] 1] [] ] O
(1) (2) (3) (4
(02 [ [
M @ 3) 4)
| TNy £ bzl
(1) (2) (3) {ﬂ/

E/Page13 SPACE FOR ROUGH WORK /T %1 % frg oy



Problem Figure | 599 SIgia Answer Figures [ I SHiaai

2 H ¢ H—d H o

&) (3 )

|

" L [ dl [HD Lo
. | =
(1) y)’ (3) (4)

Dhirections : (For Q. 37 and 38).  Which one of the answer figures will complete the sequence of the
three problem figures 7

frder: (W 37 sift3s & frr )1 s smpfoat § & sbwl spfa #t @7 gvT swgladl A e E
STTHH (sequence) T & T 7

Problem Figures | 97 aglagi Answer Figures | 39 SFaa1

AL onanciil IR ol g
v e e

- [ DSIB 7 @@%@

E/Page 14 SPACE FOR ROUGH WORK /1% T4 % fromg




Directions : (For Q. 39 and 40).  In the problem figures, A and B have certain relation.  ldentify
which one of the answer figures, will have similar relation betiveen (
aned [ 7

Frdfor: (W 39 3ifTa0 & 0 )1 TE TR A MR S uE Afrar w1 s et EC Ao v
o Fafoera TSy s St F @ fea g 2

Problem Figures | 797 Sﬂﬁﬂf Answer Figures / HH{W

AT A 5] QL A A
3 I Q/ @5 __,I'E . v v '
(1) (2} (3) (4)

R e | R o S —, .
lfff:\\._-i._:ki -"x\‘ 9 : ] L !l .

40. | e i R I . ", HE s i' '| |®* ! I_'- i
L — 1 Il gl EXERELARNIRN F o ' =

A B C D (1) 12) (3) (4)

Dvirections : (For . 41 and 42).  The problem figure shows the top view of an object.  Identify the
correct front view, from amongst Hhe answer figures.

R : (W 41 342 & fAw )1 wv sl & fowil a0g & S0 o teman 7 1 3o S ©

H FHF UE T T¥ GRS
Problem Figure | T97 $rFlT Answer Figures | 39 gl
H B .'Iﬂll. | |
1. | > , I | . / I"'.
o L L /S, L
(1) (2) (3) {4)
.-'"I 1'-. -"rl' -?"'
7 ._,.-"'ﬂ ) | foo l_." [ Y / 1
42. '“\,:‘} / 17 R B — —AT
St Gl Ghbedld  Elookd  EE. )
(1) (2) (3) (#)
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Directions : (For Q. 43 and 44).  Which one of the answer figures is the correct mirror image of th
problem figure with respect to X - X 7

fesT : (W 43 HiTaq & fovw )1 37 sUFiaal § & S99 SFT &1 T 9T FT FK - X W HT
g uffa &2

Problem Figure / 599 HFfT Answer Figures / 3¢ W@"ﬁﬂf

43,

@ ®) @

44.

AVA

(3)

(1)

Directions : (For Q. 435). One of the following answer figures, is hidden in the problem figure, n th |
same size and direction.  Select, which one is correct.

e : (W45 Ffaw )1 74 & 7F I FFfaa & 7 uF HFla 99 s oo F @u w9 7 g9
T & fodt §1 #1751 961 & g0/

Problem Figure / ¥¥7 Swgld Answer Figures /| 3 STFHiaan

2in

> Ret N <
(1) of (3) (4) 1

E/Page 16 SPACE FOR ROUGH WORK / T% &1 & fou =g



Directions : (For Q. 46 to 48).  How many total number of parallelograms are there in the problem
figure given below ? :

frdfor : (W 46 @48 & o )i 74 7 7F 5 gt 7w Syl w1 g e i 7

Problem Figure [ W¥ 3Hid

- AT 4

(1) 16 (2) 18 (3) 19 (4) 20

47.

1) 14 ) 12 (¥ 10 (4 15

A S oA
™ NPT

(1) 16 (2) 14 (3) 15 (4) 13

E/Page17 SPACE FOR ROUGH WORK / T% &1d # e =g



Directions : (For Q. 49).  Which one of the answer figures, shows the correct view of the 3 - D
Figure, after the figure is opened up ?

PR : (W49 & fT0 )1 3- D w7 amgfa 7 @ v, g 3 @ HET 3T Fia

Problem Figure / Answer Figures | 37 Srfaai
H¥T ST
i a . o
49, @ L.—[ I—\A 3 | E Li”_ 1] \1 nl_/
= = — =
1 @ @ @)

Directions : (For Q. 50 to 53).  Find the odd figure out in the problem figures given below

T : (W 50 ®53 & faw ) et & T W s 7 & vy swwty g

(1) (2) (3) ﬁ

51.

(1) = @ ¢ (Gl

E/Page18 SPACE FOR ROUGH WORK / 7% 14 & forg wnmg



o @/l, CF o '
1 e

(4)
(1) (2) (3) (4)

Directions : (For Q. 54 to 59).  Find out the total number of surfaces of the object given below, in fhe
problem figure.

Frdor: (W54 §59 & foaw )1 W7 smpid o (AoAiwa aug & 606 #1 Fo G690 F9 wiag |
Problem Figure | ¥99 310

54. (1 19 (2 17 (3) 21 (4) 20
55. (1) 20 (2 19 (3 17 (4) 18
56. 1 14 ) 13 (3) 15 (4) 12
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Problem Figure | ¥99 3Tid

57. @ (1) 17 (2) 18
59. %

1) 12 2) 14
(1)

15 (2) 14

(3)

(3)

3)

20

15

13

19

13

4 16

Directions : (For Q. 60 to 65). The 3-D problem figure shows an object. Identify the correct front
view, from amongst the answer figures, looking in the direction of

the arrow.,

Fdor: (w60 Be5 & w1 3-D ¥97 sgla 4 vw 5% ¥ fem@mm vy &1 @ F1 fem ¥ #5947 &9

TS TE GO ¥4 %1 307 AHIE § q EHA/
Answer Figures [ 3T £ Eaccd

Problem Figure [ &7 HFlT

(1)

4
61.

|
=
- (1)

w B |_|\! H]EAN
. [ ]
@ (3) (4)
- e e

7 alE
@) ©) s
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Problem Figure | W 3T Answer Figures | 397 SFfaai

T [ 55 R

(4)

b3 A B4 hd

& (1) @) - )

- (1) 2
AiGesll
65, J |
- (1) 2

E/Page21 SPACE FOR ROUGH WORK /7% %Td & Ty =



6b.

67.

b8.

a9,

70.

Winter Sun in the Northern Hemisphere
rises from :

(1) East

(2) North of East

(3) South of East

(4) South

Which one of the following is not a
matching set ?

(1) Chandigarh - Corbusier

(2) New Delhi - Lutyens

(3) Stonehenge - Germany

(4) Brasilia - Oscar Niemeyer

Who amongst the following is famous but
has not designed any building ?

(1) Gustav Eiffel

(2) Pablo Piccasso

13 Buckminister Fuller
(4) Frank Lloyed Wright

Who amongst the following is a well
known Architect ?

(1) F.D. Souza

(2) Hafeez Contractor
(3) Nar Contractor
(4) Anjoli Ela Menon

Texture is related to which one of the
tollowing :

(¥~ Form

(2) Surface

(3) Weight

(4) Shape

66.

67.

68.

69.

Tl i wfi  wd e @ e A

1y HH

(2) WHEIWH
(3) v ¥ =i A
(4) =i

Fr=fefem 4 | Frw aq=m 99 98 @ 7

(1) HErE - FEA
(2) 7 foeelt - gfeam
(3) e -

(4) Wt - AR

7 | ¥ wfas & o 399 fadt zuma =)
oA 74 fFm?

(1) 7" FEwE

(2) H=e! T

(3) ==mEF=T Tt

(4) WF THE W

fFefafea 5 @ Frr wfag awfas §2

(1) TwE gan
(2) FWE FE
(3) 70 Fewx
(4) it gom 29

wgfa Frfafan o 4 faed dafm &

(1) ¥4
(2) W
(3) WR
(4) R
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71.

72.

73.

74.

3.

A house named “Antilla’ is recently built
in Mumbai for whom ?

(1) Ratan Tata

‘_(.H" Mukesh Ambani
{3) Anil Ambani

(4) Lakshmi Mittal

Which one of the following metal is
generally used in the exterior cladding of
high rise buildings ?

(1) Cast iron

{2) Platinum

{3}” Aluminium

(4) Zinc

In which state of India is Hawa Mahal
located ?

(1) Guijarat

(2) Rajasthan

(3) Maharashtra

(4) Jammu and Kashmir

The windows in the west face of the
building, can be best protected from sun

rays by :

(1} Horizontal chajjas
(2) Vertical louvers
(3) Roof projection
(4) Projected Sill

The Dargah of Salim Chishti is located at :
(1) Red Fort Delhi

(2) Barra Imam Bara Lucknow

(3) Chaar Bagh

(4) Fatehpur Sikri

71.

72

73

74.

75.

e # * sifeen’ e wer T fem =
T R? :
(1) @z

(2) WHW SAard

(3) e sHarl

(4) el T

wael F1 RN TAE H RGN
(cladding) ¥ feu, Frefafa & 4 s
et | ) T e g

(1) o= s
(2y wfeH

(3) et
(4) % (FF)

v % fea v d v Hew fem 27

(1) TR

(2) TEEIH

(3) TEEE

(4) w7 3T FEER

wfirad raw w5 e w, g0 w
fmil @, FreAfafem # 4, 7@ @ s 50
T W WA §

(1) d&fm e

(2) wd g femiwe

(3) = frwet €% (Projected) B0
(4) e Frelt B (Projected) &

Hefm fawdt 1 20T Hel e 82
(1) = fEen feeeh

(2) =& M T TETS

(3) =T =9

(4) ARG TR
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76,

i f

78.

&0.

Which one of the following cladding
material, is best suited for sound insulation
inside an auditorium ?

(" Plywood

(2) Ceramic Tiles

(3) Woollen Fabric

{4) Timber Tiles

Which one of the following, is known as
‘Temple City" of India ?
(1} Ahmedabad

{2) Nagpur
)} Madurai
(4) Kanpur

Heat gain in buildings is best resisted by :

{1} Large Windows
(2) Exposed Roof
i3]  Cavity walls
W Thin walls

The colour of a well baked brick is
(1) Yellow
(2} Gray
(3) Purple
Terracotta

Escalators are used for :

{1}  Vertical movement only

(2) Horizontal movement only

(3) Horizontal cum vertical movement
(4) Mone of the above

"ﬂnﬂ-
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76.

7.

78,

79,

B,

Fefafas § | Fem v 918 (Far w5
eal ) wE, gunveEs § e aigs
e & fom aoga &7
(1) =mEE

(2) = e =t o
(3) 3 @

(4) TS F EE

frefafEa o 4 f9m 'dfer ' =9 =@
7

(1) sEHEERE

(2) TR

(3 W

(4) M

wEt # FEn wi| =) 1% ¥ e et
# A Fm, gan afus Fm i

(1) =t faafea

(2) FmaEtE =a

(3) e fsdt

(4) e SEn

et e v gE 2w I Fm A R 7
(1) e

(2) Y (HE)

(3) o

{4} TR (Terracotta)

TEHTR (UERe) e fom vam 9 s
L
(1) Ee 9T oy & fom
(2) %= i ofa F @
(3)  dfas Fn weie o ¥ fom
(4) FmH A fwt ofa % fom o

-ola-
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